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Q.1 (20 points)    Choose the correct answer 

1) Determine the domain and range, and asymptote of the function  2( ) 3 4xh x    

              A)   Domain:  2,  ; Range:  ,  , Asymptote: 4y          

  B)   Domain:  ,   ; Range:  4, , Asymptote: 4y   

  C)   Domain:  ,   ; Range:  4, , Asymptote: 4x          

  D)   Domain:  ,   ; Range:  2, , Asymptote: 4x         

 

      2)  Rewrite the expression as a single logarithm. 9 9log 3 3log 2  

              A)   log 6
9

      

              B)   log 24
9

 

              C)   log 9
24

  

              D)   log 11
9

    

 

3) The point 7 3
,

4 4

 
  
 

 is on the unit circle corresponding to a real number t . 

 Find the values of tan( )t . 

  A)   
7

3


     

  B)  
3 7

7


      

  C)   
7

4


                  

D)  
4 7

7


  

4) If   is an acute angle and
1

cos
3

  , find csc
2




 
 

 
. 

 A) 3     

 B)  3  

 C) 
3 2

4
 

 D)  
1

3


 

 

5) Find the degree measure of the angle: 1.6 rad. 

 A)   104.02      

  B)   54.99  

  C)   128.35  

  D)   91.67   
  

You must write the correct answer to each question in the box below 

 

 

 

 

 

Question 1 2 3 4 5 

Answer      



 2 

6) Find a positive angle less than 360  that is coterminal with the angle 790 
 
  

  A)   250      

  B)   10  

  C)   290  

  D)   70    

 

 

7) Determine the quadrant in which angle  190    lies. 

  A)  QI       

  B)  QII                          

  C)   QIII                               

  D)  QIV  

 

 

     8)  Express the equation in logarithmic form. 
43 81  

             A)   4log 3 81              

B)   81log 3 4  

C)   4log 81 3  

             D)   3log 81 4    

 

 

9) Find the reference angle to the angle 
47

6





  

              A)  
6


     

              B)  
5

6


     

              C)  
3


             

              D)  
6


 

 

10) Use the Laws of Logarithms to rewrite the expression: 
89ln 3x y  

A)   
1 1 1

ln 3 ln ln
9 9 9

x y               

B)   
8 8 8

ln 3 ln ln
9 9 9

x y   

C)   
1 8 1

ln 3 ln ln
9 9 9

x y   

D)   
8 1

ln 3 ln ln
9 9

x y     

 

 

You must write the correct answer to each question in the box below 

 

 

 

 

Question 6 7 8 9 10 

Answer      
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Q.2 (7 points) :  Use transformations to graph  ( )     (   )   , and give the equation of the 

asymptote, domain and range of  ( )      
 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

Q.3 (4 points):  Expand the following logarithmic expression as much as possible. Simplify where 

possible. 

                   

23

2 4

1.
ln

.

x y

e z

 
 
 

                  

 

 

 

 

 

 

 

 

Q.4 (4 points):  A forest ranger is standing on a lookout tower in a forest. His observation position is 

210 feet above the ground level when he spots an illegal camp fire. The angle of elevation from the fire 

to the top of the lookout tower is 60
0
 . Find the distance between the base of the tower and the fire.             

 

 

 

 

 

 

 

 

 

 

 

Q.5 (3 points):  Find the exact value of the following without using a calculator. (Show all your steps) 

          2 21 sin 70 sin 20                                 
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Q.6 (12 points) :  Solve the following equations.                  

a) 
2 12 23 9x x    

 

 

 

 

 

 

 

 

b) 
22 2 12 0x x     

 

 

 

 

 

 

 

 

 

 

 

 

 

c) ln( 2) ln( 3) ln( 1) ln( 7)x x x x                          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.6 (7 points):   Find the exact value of each of the trigonometric functions of   
                            B 

        

 

       

                      

                                                                                                                                          8c                                      3a   

 

 

                       A                                                           C 

                                         b      
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Q.7 (4 points):   Find the length of the arc on a circle of radius 5 centimeters  intercepted by  

a central angle 115  . Round answer to two decimal places. 

 

 

 

 

 

 

 

Q.8 (6 points):  Use reference angle and a sketch to find the exact value. Don’t use the calculator 

directly and show all your steps. 

a) 
35

cos
6

 
 
 

                    

 

 

 

 

 

 

 

b)  tan 210                     

 

 

 

 

 

 

 

      

Q.9 (8 points) :    Given that csc 4     and  tan 0  . Find the exact value of the remaining 

trigonometric functions of   .                            

  

 

 

 

 

 

 

 

 

 

 

 

Q.10 (5 points):    The value of a house is given by the exponential function 
0.086300 tV e  where V  is 

the value of the house in thousands of dollars t  years after year 2010 . When(what year) will the house 

be worth 600  thousand dollars? 

 

 

         

      


